POWELL VALVES

SINCE 1846

SERIES: B110TC - CARBON STEEL

1-PC. SCREWED END BALL VALVE
(1/8" - 27)

DESIGN FEATURES: e Anti-Static Device
e Reduced port, 1/4"~2" e Silicone Free
(DN8~DN80) e Locking device
e W.P.:1000 WOG (PN63) e Thread type:
e W.T.:-20°C~200°C (-4°F~392°F) »  ASME B1.20.1 (NPT)
® |nvestment casting »  DIN2999 & BS21
e Blow-out proof stem » 1S07/1 & EN10226
MATERIAL
ITEM PARTS
_ B110TCPTXXX
1 BODY
ASTM A216-WCB
2 RETAINER
3 BODY SEAL (1) PTFE
4 BALL ASTM A351-CF8M
*‘( 8 5 BALL SEAT PTFE
6 STEM ASTM A276-316
T3 | é 7 FLAT WASHER
. Q@ 8 SPRING WASHER AISI 304
L 9 STEM NUT
10 THRUST WASHER
PTFE
1 I PACKING
E—— .
== e S
g W | it £ w4 |11 13 304
4)_,_% 14 HANDLE SLEEVE PVC

(1)1-1/4" - 2" size only

Torque (N-m) | Weight (kg)
8 5.0 39.0 38.0 17.0 3.0 61.7 20.0 0.8 0.1
10 7.0 44.0 M1 214 4.0 735 23.0 1.0 0.1
15 9.0 56.5 40.6 26.1 5.0 94.7 29.0 1.2 0.2
20 12.5 59.0 441 28.8 5.0 94.7 29.0 1.8 0.3
25 15.0 71.0 56.5 36.5 6.0 1115 35.0 3.0 0.4
32 20.0 78.0 62.0 40.5 1125 113.0 38.0 49 0.7
40 25.0 83.0 63.2 46.5 160.0 141.0 40.5 74 09
50 32.0 100.0 68.5 51.0 160.5 141.0 49.0 8.8 1.4
unit: mm

Torque(in-lb) | Weight (Ib)
1/4" 0.20 154 150 0.67 0.12 2.43 0.79 7.1 0.2
3/8” 0.28 173 162 0.84 0.16 2.89 0.91 8.9 0.2
1/2" 0.35 2.22 160 1.03 020 373 114 106 0.4
3/4" 0.49 2.32 174 113 020 373 114 15.9 07
1" 0.59 2.80 2.22 144 0.24 4.39 138 257 09
1-1/4" 0.79 3.07 2.44 159 4.43 4.45 150 434 15
1-1/2" 0.98 3.27 2.49 183 6.30 5.55 159 65.1 2.0
2" 126 3.94 2.70 2.01 6.32 5.55 193 78.1 3.1

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B210TM - B210TC (1/4” - 47
2-PC. SCREWED END BALL VALVE
Stainless / Carbon Steel

H1

0

HMW\‘(\)(

IUINI

@0 OO
L

\0‘) ol L 1]
\v{o] 'nmmmmlmlmn W

HOLLOW BALL

SCLID BALL

DESIGN FEATURES:

e Full port, 1/4"~4" (DN8~DN8B0) ~ ®

e W.P.: 1000 WOG (PN63)

e W.T.:-20°C~200°C
(-4°F~392°F)

* Investment casting

* Blow-out proof stem

¢ Silicone Free

® Anti-Static Device
Locking device
* Tapped & drilled mounting
pad (option)
* Thread type:
»  ASME B1.20.1 (NPT)
»  DIN2999 & BS21
» 1S07/1 & EN10226

MATERIAL
ITEM PARTS B210TMRTXXX | B210TCRTXXX
| 1 BODY ASTM A351-CF8M | ASTM A216-WCB
el 2 CAP
; SOLID BALL ASTM A351-CF8M
HOLLOW BALL ASTM A240-316
4 STEM ASTM A276-316
5 GLAND AISI 304
6 SEAT RTFE
7 SEAL
| 8 PACKING PTFE
{ 9 | THRUST WASHER
‘ 10_| SPRING WASHER
; o Ut AISI 304
| 12 HANDLE STAINLESS STEEL
i 13| HANDLE SLEEVE PVC
14| LOCK DEVICE STAINLESS STEEL

8 11.6 19.0 50.8 58.5 18.5 995 5.0 3/8"-24UNF 35 0.2
10 12.5 22.5 50.8 58.5 18.5 99.5 5.0 3/8"-24UNF 40 0.2
15 15.0 26.0 58.0 60.5 18.8 99.5 5.0 3/8"-24UNF 5.5 0.3
20 20.0 32.0 65.6 63.0 23.4 123.0 6.5 7/16"-20UNF 15 0.5
25 25.0 38.0 78.7 79.5 26.2 149.0 8.0 7/16"-20UNF 11.0 0.8
32 32.0 48.0 90.0 86.0 23.6 149.0 8.0 7/16"-20UNF 15.0 1.1
40 38.0 54.8 105.0 101.7 28.2 190.0 10.0 1/2"-20UNF 20.0 1.8
50 50.0 67.0 124.0 109.3 23.4 190.0 10.0 1/2"-20UNF 40.0 2.7
65 63.0 85.0 146.0 140.0 394 247.0 12.0 3/4"-10UNF 60.0 5.6
80 76.0 100.0 163.2 148.5 394 247.0 12.0 3/4"-10UNF 85.0 15
100 100.0 126.0 240.0 175.0 43.0 300.0 15.0 3/4"-10UNF 90.0 13.9
unit: mm
P d D P orque b .. J oA
1/4 0.46 0.75 2 .00 2.30 0.73 3.92 0.20 3/8"-24UNF 31.0 05
3/8 0.49 0.89 2 .00 2.30 0.73 3.92 0.20 3/8"-24UNF 35.4 0.5
1/2 0.59 1.02 2.28 2.38 0.74 3.92 0.20 3/8"-24UNF 48.7 0.7
3/4" 0.79 1.26 2.58 2.48 0.92 4.84 0.26 7/16"-20UNF 66.4 1.0
1" 0.98 1.50 3.10 3.13 1.03 5.87 0.31 7/16"-20UNF 97.4 1.7
1-1/4" 1.26 1.89 3.54 3.39 0.93 5.87 0.31 7/16"-20UNF 132.8 2.5
1-1/2" 1.50 2.16 413 4.00 1.11 7.48 0.39 1/2"-20UNF 177.0 3.9
2" 1.97 2.64 4.88 4.30 0.92 7.48 0.39 1/2"-20UNF 354.0 59
2-1/2" 2.48 3.35 5.75 5.51 1.55 9.72 0.47 3/4"-10UNF 531.0 12.4
3" 2.99 3.94 6.43 5.85 1.55 9.72 0.47 3/4"-10UNF 752.3 16.5
4 3.94 4.96 9.45 6.89 1.69 11.81 0.59 3/4"-10UNF 796.6 30.6
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B220TM - B220TC (1/a” - 27)
2-PC. SCREWED END BALL VALVE
Stainless / Carbon Steel

il

Il

@d

DESIGN FEATURES:

Full port

W.P.:

» 1/8"~1" - 2000 WOG (PN150)

»  1-1/4"~2" - 1500 WOG
(PN100)

W.T. : -20°C~200°C (-4°F~392°F)

Investment casting

Silicone Free

Blow-out proof stem
Anti-static device
Locking device

Thread type :

»  ASME B1.20.1 (NPT)
» DIN2999 & BS21

» 1S07/1 & EN10226

‘ MATERIAL
TEM PARTS
B220TMRTXXX  B220TCRTXXX

1 BODY

2 o ASTM A351-CF8M |  ASTM A216-WCB
3 BALL ASTM A351-CF8M

4 STEM ASTM A276-316

5 GLAND NUT AISI 304

6 BALL SEAT RTFE

7 BODY SEAL

8 PACKING PTFE

9 | THRUST WASHER

10 | SPRING WASHER ASI 300

1 NUT

12 HANDLE STAINLESS STEEL

13 HANDLE SLEEVE PVC

14 LOCK DEVICE STAINLESS STEEL

| TORQUEN-M) |  WEIGHT (KG)
8 11.6 60.5 54.1 25.0 17.1 1.0 103 5.0 5/16"W 4.1 0.3
10 13.0 60.5 54.1 25.0 17.1 11.0 103 5.0 5/16"W 4.1 0.3
15 15.0 64.0 56.7 26.0 17.7 11.0 103 5.0 5/16"W 44 0.3
20 200 77.0 63.7 317 27 13.5 126 6.5 3/8"W 5.9 0.6
25 25.0 90.0 76.7 373 26.1 15.7 164 8.0 7/16"W 74 0.8
32 320 | 1000 | 827 377 249 15.7 164 8.0 7/16"W 8.8 13
40 330 | 1180 | 955 42.1 272 17.0 190 9.0 1/2"W 13.2 2.0
50 508 | 1380 | 1053 | 433 283 17.0 190 9.0 1/2"'W 16.2 3.1

unit: mm

| TORQUE(IN-LB) |  WEIGHT (LB)
1/4" 0.46 2.38 2.13 0.98 0.67 0.43 4.06 020 | 5/16"W 36.0 0.6
3/8" 0.51 2.38 2.13 0.98 0.67 0.43 4.06 020 | 5/16"'W 36.0 0.6
1/2" 0.59 2.52 2.23 1.02 0.70 0.43 4.06 020 | 5/16"'W 39.0 0.7
3/4" 0.79 3.03 251 1.25 0.89 0.53 4.96 0.26 3/8"W 52.0 12
1" 0.98 3.54 3.02 1.47 1.03 0.62 6.46 031 | 7/16"'W 65.1 19
114" | 126 3.94 3.26 1.48 0.98 0.62 6.46 031 | 7/18"W 78.1 28
1-1/2" | 150 4.65 3.76 1.66 1.07 0.67 7.48 0.35 1/2"W 116.8 4.4
2" 2.00 5.43 4.15 1.70 1.11 0.67 7.48 0.35 1/2"W 143.4 6.9

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWELL VALVES SINCE 1846

SERIES: B820TM - B820TC (1/4" - 4"
2-PC. SCREWED END BALL VALVE

SEAL WELDED

DESIGN FEATURES:
Full port * Locking device

e WP.: ¢ API 607 Fire safe approved
»  1/4"~1" - 2000 WOG(PN150) e ASME B16.34 Wall thickness
» 1-1/4"~2" - 1500 WOG(PN100) e API 608 Design
»  2-1/2"~4" - 1000 WOG(PN63) e NACE MR0O103

* WT.:-20°C~200°C (-4°F~392°F) o Seal welded ends

* Investment casting e Thread type :

* Blow-out proof stem » ASME B1.20.1 (NPT)

e Anti-static device » DIN2999 & BS21

¢ Silicone Free » 1S07/1 & EN10226

| MATERIAL

B820TMRGNXX | B820TCRGNXX

5 1 BODY ASTM A351-CF8M | ASTM A216-WCB
g 2 CAP
3 BALL 316 ASTM CF8M
L 4 STEM ASTM A276-316
5 GLAND NUT AISI 304
6 SEAT RTFE
7 PACKING GRAPHITE
8 THRUST WASHER CTFE
9 SPRING WASHER
0 NUT AlSI 304
1 HANDLE STAINLESS STEEL
12 HANDLE SLEEVE PVC
13 LOCK DEVICE STAINLESS STEEL
| Torque (N-M) | Weight
Action Breakaway (kg)
8 11.6 60.5 53.6 10.5 102 5.0 5/16" 3.6 5.1 0.4
10 12.8 60.5 53.6 10.5 102 5.0 5/16" 3.8 6.4 0.4
15 15.0 62.5 57.0 10.5 102 5.0 5/16" 3.8 6.4 0.4
20 20.2 77.0 62.1 13.5 124 6.5 3/8" 3.8 6.4 0.7
25 25.6 90.0 80.0 15.7 165 8.0 7/16" 7.7 114 1.3
32 32.0 100.0 83.7 15.7 165 8.0 7/16" 19.5 28.6 2.0
40 38.0 118.0 99.0 17.0 188 9.0 1/2" 19.5 32.5 2.5
50 50.8 138.0 107.0 17.0 188 9.0 1/2" 20.8 442 41
65 65.5 167.0 142.0 275 250 12.0 3/4" 33.0 55.0 6.4
80 80.0 193.0 153.0 27.5 250 12.0 3/4" 42.0 70.0 10.9
100 100.0 258.0 180.0 34.0 324 16.0 1" 54.0 90.0 21.0
unit: mm
| Torque (in-Ib) | Weight
Action Breakaway (Ib)
1/4" 0.46 2.38 2.11 0.41 4.02 0.20 5/16" 31.9 45.1 0.9
3/8" 0.50 2.38 2.11 0.4 4.02 0.20 5/16" 336 56.6 0.9
1/2" 0.59 2.46 2.24 0.41 4.02 0.20 5/16" 33.6 56.6 0.9
3/4 0.80 3.03 2.44 0.53 4.88 0.26 3/8" 33.6 56.6 1.5
1" 1.01 3.54 3.15 0.62 6.50 0.31 7/16" 68.2 100.9 2.9
1-1/4" 1.26 3.94 3.30 0.62 6.50 0.31 7/16" 172.6 253.1 44
1-1/2" 1.50 465 3.90 0.67 7.40 0.35 1/2" 172.6 287.6 55
2" 2.00 5.43 421 0.67 7.40 0.35 1/2" 184.1 391.2 9.0
2-1/2" 2.58 6.57 5.59 1.08 9.84 0.47 3/4" 292.1 486.8 14.1
3" 3.15 7.60 6.02 1.08 9.84 0.47 3/4" 371.7 619.5 24.0
4" 3.94 10.16 7.09 1.34 12.76 0.63 1" 477.9 796.6 46.3
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B410TM - B410TC (1/4" -3")
2-PC. SCREWED END BALL VALVE

Stainless / Carbon Steel
DIRECT MOUNT

DESIGN FEATURES: e Supplied with level handle

e Full port, 1/4"~ 3" (DN8~DN50) e Silicone Free

e W.P.:1000 WOG (PN63) ® |locking device

e \W.T.:-20°C~200°C (-4°F~392°F) ¢ Direct Mounting pad 1S0 5211
* Investment casting * Thread type :

* Blow-out proof stem »  ASME B1.20.1 (NPT)

* Live-loading design »  DIN2999 & BS21

* Anti-static device » 1S07/1 & EN10226

MATERIAL
[TEM PARTS
e— B410TMMTXXX [ B410TCMTXXX

o I%I 1 BODY
o5 ASTM A351-CF8M | ASTM A216-WCB
o an : 2 CAP
STk O 3 BALL ASTM A351-CF8M
I |==|“qu . ] SEAL PIFE
- ; SEAT TAv 1600
N\ e 6 | THRUST WASHER
L ‘ 7 PACKING TrE
8 0-RING VITON
9 STEM ASTM A276-316
10 GLAND RING AISI 304
11 | BELLEVILLE WASHER AlSI 301
12 |  LOCK WASHER
B pp—— 13 STOPPER AISI 304
14 STEM NUT
S | 1505211 | Torque (N-m)  Weight (kg)
8 116 | 580 | 80 | 364 9 31.0 | 36 42 2.8 28 | FO3/F04 5.5 0.5
10 127 | 580 | 80 | 364 9 31.0 | 36 42 28 2.8 | F03/F04 5.5 05
15 15 | 580 | 80 | 364 9 310 | 36 42 28 2.8 | F03/F04 5.5 05
20 20 | 656 | 90 | 392 9 310. 36 42 28 28| F03/F04 75 05
25 25 | 787 | 10 | 487 11 355 | 42 50 28 35 | FO4/F05 11.0 0.8
32 32 | 900 | 110 | 542 11 35 | 42 50 28 35 | FO4/F05 15.0 12
40 38 | 1050 | 115 | 657 14| 560 | 50 70 35 45 | Fo5/F07 20.0 2.0
50 50 | 1240 | 115 | 755 14| 560 | 50 70 35 45 | Fo5/F07 400 2.9
85 63 | 1462 | 205 | 915 17 | 760 | 70 02| 45 55 | FO7/F10 60.0 5.3
80 76 | 1637 | 205 | 1008 | 17 | 760 | 70 02| 45 55 | FO7/F10 85.0 72
unit: mm
NOEYAN | Torque (in-Ib) ~ Weight (Ib)
174" | 046 | 228 | 031 | 143 | 035 | 122 | 142 | 165 | 011 | 0.1 | F03/Fo4 187 1.0
38" | 050 | 228 | 031 | 143 | 035 | 122 | 142 | 165 | 011 | 011 | Fo3/F04 187 1.0
1/ | 059 | 228 | 031 | 143 | 035 | 122 | 142 | 165 | 041 | 0.1 | Fo3/Fo4 187 1.0
34" | 079 | 258 | 035 | 154 | 035 | 122 | 142 | 165 | 011 | 011 | Fo3/Fo4 66.4 1.0
1" 098 | 310 | 043 | 192 | 043 | 140 | 165 | 197 | 011 | 0.4 | Fo4/F05 97.4 18
1-1/4" | 126 | 354 | 043 | 213 | 043 | 140 | 165 | 197 | 011 | 014 | F04/F05 | 1328 26
1-1/2 | 150 | 413 | 045 | 259 | 055 | 220 | 197 | 276 | 014 | 048 | F05/F07 177.0 44
2" 197 | 488 | 045 | 297 | 055 | 220 | 197 | 276 | 014 | 018 | FO5/F07 | _ 354.0 6.4
21/2" | 248 | 576 | 081 | 360 | 067 | 30 | 276 | 402 | 018 | 022 | FO7/F10 | 5310 11.7
3" 299 | 644 | 081 | 397 | 067 | 30 | 276 | 402 | 018 | 022 | ro7/Fi0 | 7520 15.8
unit: Iin

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B836TM - B836TC (1/4" - 2")
HIGH PRESSURE THREADED
BALL VALVE

Stainless / Carbon Steel
SEAL WELDED e FIRE SAFE

DESIGN FEATURES:
1/4"~2" (DN8~DN50)
W.P. : 3600 WOG (PN250)

Seal welded ends
ASME B16.34 Wall thickness

e W.T.:-20°C~260°C (-4°F~500°F) NACE MR0103
* Investment casting API 607 Fire safe approved
* Blow-out proof stem Thread type:
® Anti-static device (option) » ASME B1.20.1 (NPT)
® Locking device »  DIN2999 & BS21
¢ Mounting pad IS0 5211 » 1S07/1 & EN10226
¢ Silicone Free
) MATERIAL
B836TMKGNXX | B836TCKGNXX
1 BODY
ASTM A351-CF8M | ASTM A216-WCB
2 CAP
W 3 BALL 17-4PH
4 STEM ASTM A564-630 H900
5 GLAND NUT AISI 304
- 6 SEAT PEEK
7 SEAL
GRAPHITE
: 8 PACKING
N1 i 3 i THRUST WASHER CTFE
T 10 HANDLE
‘ AISI 304
é) (%O é)&) 11 LOCK PAD

[SO 5211 | Torque (N-M) | Weight (kg)

8F 6.4 32 39 76.2 56.6 142.0 M5*P0.80 FO3 95 0.7
10S 6.4 32 39 76.2 56.6 142.0 M5*P0.80 F03 9 0.7
% 15F 12.7 32 39 101.6 56.6 142.0 M5*P0.80 FO3 95 0.8
£ 20 F 19.0 47 47 108.0 76.1 173.0 M5*P0.80 F04 28.0 1.3
258 19.0 47 47 108.0 76.1 173.0 M5*P0.80 Fo4 28.0 1.3
40 F 38.1 77 86 134.0 117.0 2475 M8*P1.25 FO7 53.0 49
50 S 38.1 82 86 158.1 117.0 2475 M8*P1.25 FO7 53.0 5.4

F: Full Port  S: Standard Port unit: mm

1505211 | Torque (in-lb) | Weight (Ib)

1/4" F 0.25 1.26 1.54 3.00 2.23 5.59 M5*P0.80 FO3 84.1 15
- 3/8" S 0.25 1.26 1.54 3.00 2.23 5.5 M5*P0.80 F03 84.1 15
g 1/2" F 0.50 1.26 1.54 4.00 2.23 5.59 M5*P0.80 FO3 84.1 1.7
% 3/4" F 0.75 1.85 1.85 475 3.00 6.81 M5*P0.80 FO4 2478 2.9
o 1S 0.75 1.85 1.85 4.25 3.00 6.81 M5*P0.80 Fo4 2478 2.9
1-1/2" F 1.50 3.03 3.39 5.28 4.61 9.74 M8*P1.25 FO7 469.1 10.8
2"S 1.50 3.23 3.39 6.22 461 9.74 M8*P1.25 FO7 469.1 11.8

F: Full Port  S: Standard Port unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B836SM - B836SC (1/4” - 27
HIGH PRESSURE SOCKET WELD
BALL VALVE

Stainless / Carbon Steel

SEAL WELDED e FIRE SAFE

DESIGN FEATURES:

e 1/4"~2" (DN8~DN50) ¢ Seal welded ends
e W.P.:3600 WOG (PN250) ¢ ASME B16.34 Wall thickness
e W.T.:-20°C~260°C (-4°F~500°F) * NACE MR0103
® Investment casting * API 607 Fire safe approved
e Blow-out proof stem ¢ Socket Weld Ends:
* Anti-static device (option) » ASMEB16.34 /1.20.1
* |ocking device » DIN2999 & BS21
* Mounting pad IS0 5211 » 1S07/1 & EN10226
- ¢ Silicone Free
MATERIAL
B836SMKGNXX | B836SCKGNXX
1 BODY
ASTM A351-CF8M | ASTM A216-WCB
2 CAP
5 3 BALL 17-4PH
4 STEM ASTM A564-630 HI00
3 GLAND NUT AISI 304
6 SEAT PEEK
7 SEAL
GRAPHITE
i 8 PACKING
9 THRUST WASHER CTFE
10 HANDLE
AISI 304
11 LOCK PAD
L

1505211 | Torque (N-M) | Weight (ko)

8F 6.4 32 39 76.2 56.6 142.0 M5*P0.80 F03 9.5 0.7
108 6.4 32 39 76.2 56.6 142.0 M5*P0.80 F03 a5 0.7
ﬁ 15F 12.0 32 39 101.6 56.6 142.0 M5*P0.80 F03 9.5 0.8
= 20F 19.0 47 47 108.0 76.1 173.0 M5*P0.80 FO4 28.0 1.3
25S 19.0 47 47 108.0 76.1 173.0 M5*P0.80 FO4 28.0 1.3
40 F 38.1 77 86 134.0 117.0 2475 M8*P1.25 F07 53.0 49
50 S 38.1 82 86 158.1 117.0 2475 M8*P1.25 Fo7 53.0 5.4

F: Full Port  S: Standard Port unit: mm

| Torque (in-Ib) | Weight (Ib)

1/4" F 0.25 1.26 1.54 3.00 2.23 5.59 M5*P0.80 F03 84.1 15
o 3/8" S 0.25 1.26 1.54 3.00 2.23 5.59 M5*P0.80 F03 84.1 15
g 1/2" F 0.50 1.26 1.54 4.00 2.23 5.59 M5*P0.80 FO3 84.1 1.7
§ 3/4" F 0.75 1.85 1.85 4.25 3.00 6.81 M5*P0.80 Fo4 247.8 29
o 1"S 0.75 1.85 1.85 4.25 3.00 6.81 M5*P0.80 FO4 2478 29
1-1/2" F 1.50 3.03 3.39 5.28 461 9.74 M8*P1.25 F07 469.1 10.8
2"S 1.50 3.23 3.39 6.22 461 9.74 M8*P1.25 Fo7 469.1 11.8

F: Full Port  S: Standard Port unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B860SM - B860SC (1/4” - 2")
HIGH PRESSURE BALL VALVE

Stainless / Carbon Steel
SEAL WELDED e FIRE SAFE

&

© ©

T
2d
[4]

1

® 00 ®0

L

DESIGN FEATURES:
e 1/4"~2" (DN8~DN50) ¢ Seal welded ends
e W.P.:6000 WOG (PN420) * ASME B16.34 Wall thickness
* W.T.:-20°C~260°C (-4°F~500°F) ¢ NACE MR0103
* Investment casting * API 607 Fire safe approved
* Blow-out proof stem * Socket Weld:
* Anti-static device » ASME 16.34 /16.11
* locking device »  DIN2999 & BS21
* Mounting pad IS0 5211 » 1S07/1 & EN10226
¢ Silicone Free
MATERIAL
B860SMKGNXX | B860SCKGNXX
1 BODY
ASTM A351-CF8M |  ASTM A216-WCB
2 CAP
3 BALL 17-4PH
4 STEM ASTM A564-630 HI00
5 GLAND NUT AISI 304
6 SEAT PEEK
7 SEAL
GRAPHITE
8 PACKING
9 THRUST WASHER CTFE
10 HANDLE
AISI 304
1 LOCK PAD

NOEYAN | Torque (N-M) | Weight (kg)

8 F 6.4 32 39 76.2 56.6 142.0 M5%*P0.80 F03 95 0.7
10S 6.4 32 39 76.2 56.6 142.0 M5%P0.80 F03 95 0.7
o 15F 12.7 38 39 101.6 56.6 142.0 M5%*P0.80 F03 95 0.9
g 20 F 19.0 47 52 108.0 76.1 173.0 M5*P0.80 FO4 28.0 1.6
= 258 19.0 55 55 108.0 76.1 173.0 M5%*P0.80 Fo4 28.0 1.8
25F 254 ) 68 122.0 83.1 173.0 M6*P1.00 F05 33.3 2.7
40 F 38.1 77 97 134.0 117 2475 M8*P1.25 FO7 53.0 6.1
50 S 38.1 92 97 158.1 117 2475 M8*P1.25 FO7 53.0 14
F:Full Port S:Standard Port unit: mm

| Torque (in-Ib) | Weight (Ib)

1/4" F 0.25 1.26 1.54 3.00 2.23 5.59 M5*P0.8 F03 84.1 15

- 3/8" S 0.25 1.26 1.54 3.00 223 515 M5*P0.8 FO3 84.1 1.5
g 1/2" F 0.50 1.50 1.54 4.00 223 5.59 M5*P0.8 FO3 84.1 20
§ 3/4" F 0.75 1.85 2.05 4.25 3.00 6.81 M5*P0.8 Fo4 2478 34
= 1"S 0.75 217 217 4.25 3.00 6.81 M5%P0.8 Fo4 247.8 59
1-1/2" F 1.50 3.03 3.82 5.28 4.61 9.74 M8*P1.25 F07 469.1 13.4

2"S 1.50 3.62 3.82 6.22 461 9.74 M8*P1.25 Fo7 469.1 16.3

F:Full Port S:Standard Port unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWEL.L VALVES SINCE 1846

SERIES: B200T (1/4" - 47)
2-PC. SCREWED END BALL VALVE
Brass

DESIGN FEATURES:
* Full port, 1/4"~4" (DN8~DN100) e Solid Ball
e WP.: e NSF/ANSI61-8
» 1/4" -2":600 WOG ® (SA-ANSIZ21.15
»  2-1/2" - 4": 400 WOG * (CGA9.1, ASME B16.44, CGA
e UL Listed CR91-002
® Thread type:
e Blow-out proof stem »  ASME B1.20.1 (NPT)
* Locking device (1/4 - 2" only) »  DIN2999 & BS21
» 1S07/1 & EN10226
MATERIAL
[TEM ‘ PARTS B200T
1 BODY
2 CAP BRASS
3 BALL
4 SEAT PTFE
5 STEM BRASS
6 PACKING PTFE
7 GLAND BRASS
8 HANDLE NICKEL PLATING STEEL
9 STEM NUT BRASS PLATING STEEL
g @ «
L1
L
| NPT THREAD Weight (kg)
8 10.0 446 11.6 478 90.0 1/4" 0.4
10 10.0 446 11.6 478 90.0 3/8" 0.4
15 14.8 52.0 13.2 53.1 90.0 1/2" 0.4
20 19.0 60.0 14.3 56.8 96.0 3/4" 0.7
25 24.0 70.0 16.0 67.8 115.0 1" 1.1
32 32.0 84.0 18.0 77.50 115.0 1-1/4" 1.6
40 40.0 93.0 18.2 88.5 140.0 1-1/2" 2.4
50 50.0 106.2 19.0 975 140.0 2" 34
65 64.0 136.6 26.0 121.0 220.0 2-1/2" 9.0
80 74.0 153.4 28.0 129.0 220.0 3" 12.0
100 99.0 187.6 31.0 149.0 2440 4" 18.0
unit: mm
| NPT THREAD
1/4" 0.39 1.76 0.46 1.88 3.54 1/4" 0.7
3/8" 0.39 1.76 0.46 1.88 3.54 3/8" 0.7
1/2" 0.58 2.05 0.52 2.09 3.54 1/2" 1.0
3/4" 0.75 2.36 0.56 2.24 3.78 3/4" 1.5
1" 0.95 2.76 0.63 2.67 4.53 1" 2.4
1-1/4" 1.26 3.31 0.71 3.05 453 1-1/4" 35
1-1/2" 1.58 3.66 0.72 3.48 5.51 1-1/2" 5.3
2" 1.97 418 0.75 3.84 5.51 2" 1.4
2-1/2" 2.52 5.38 1.02 4.76 8.66 2-1/2" 19.8
3" 2.91 6.04 1.10 5.08 8.66 3" 26.0
4" 3.90 7.39 1.22 5.87 9.61 4" 40.0
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B310TM - B310TC (1/4" - 4”)
3-PC. SCREWED END BALL VALVE

Stainless / Carbon Steel
DESIGN FEATURES:

e Fullport, 1/4"~4" (DN8~DN100) ~ ® Anti-Static

e W.P.:1000 WOG (PN63) * |ocking device

e W.T.:-20°C~200°C (-4°F~392°F) ® Thread type:

* |nvestment casting » ASME B1.20.1 (NPT)
* Blow-out proof stem » DIN2999 & BS21

* Silicone Free » 1S07/1 & EN10226

PARTS MATERIAL
B310TMRTXXX | B310TCRTXXX

1 BODY ASTM A351-CF8M ASTM A216-WCB
v 2 CAP
3 BALL ASTM A351-CF8M
4 SEAT RTFE
W 5 SEAL
Q? 6 PACKING PTFE
7 THRUST WASHER
8 STEM ASTM A276-316
- T 9 GLAND
Ak 25 ‘\‘v 10 SPRING WASHER
”“‘w’”&f‘ AR NS 11 STEM NUT
,Iill |I|~\\(H)(\\H(H\‘ 2 BOLT AISI 304
T [
‘ I‘I*r’zfﬁ’/éff’ | ||M‘)‘W 13 NUT
"N!""’ F §! 14 | SPRING WASHER
[l Zou 15 LOCKING DEVICE
i 6 HANDLE STAINLESS STEEL
17 HANDLE SLEEVE PVC
Torque (N-m) Weight (kg)
8 11.6 65 60.2 98 5.0 3/8"-24UNF 35 0.4
10 12.5 65 60.2 98 5.0 3/8"-24UNF 40 0.4
15 15.0 65 62.2 98 5.0 3/8"-24UNF 55 0.5
20 20.0 75 64.6 121 6.5 7/16"-20UNF 15 0.7
25 25.0 85 80.1 147 8.0 7/16"-20UNF 11.0 1.1
32 32.0 101 85.1 147 8.0 7/16"-20UNF 15.0 1.6
40 38.0 112 103.3 188 10.0 1/2"-20UNF 20.0 2.4
50 50.0 130 110.8 188 10.0 1/2"-20UNF 40.0 3.1
65 63.0 162 141.7 245 12.0 3/4"-10UNC 60.0 6.5
80 76.0 188 150.4 245 12.0 3/4"-10UNC 85.0 95
100 96.0 224 181.7 316 16.0 1"-8UNC 150.0 19.0
unit: mm
Torque (in-
1/4" 0.46 2.56 2.37 3.86 0.20 3/8"-24UNF 31.0 0.8
3/8" 0.49 2.56 2.37 3.86 0.20 3/8"-24UNF 35.4 0.8
1/2" 0.59 2.56 2.45 3.86 0.20 3/8"-24UNF 48.7 1.1
3/4" 0.79 2.95 2.54 4.76 0.26 7/16"-20UNF 66.4 143
1" 0.98 3.35 3.15 5.79 0.31 7/16"-20UNF 97.4 2.3
1-1/4" 1.26 3.98 3.35 5.79 0.31 7/16"-20UNF 132.8 35
1-1/2" 1.50 4.4 4.07 7.40 0.39 1/2"-20UNF 177.0 5.3
2" 1.97 512 4.36 7.40 0.39 1/2"-20UNF 354.0 6.8
2-1/2" 2.48 6.38 5.58 9.65 0.47 3/4"-10UNC 531.0 14.3
3" 299 7.40 5.92 9.65 0.47 3/4"-10UNC 752.3 20.9
4" 3.78 8.82 7.15 12.44 0.63 1"-8UNC 13276 419

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B310SM - B310SC (1/4” - 47)
3-PC. SOCKET WELD END BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
e Full port, 1/4"~4" (DN8~DN100) ~ * Anti-Static Device
e W.P.: 1000 WOG (PN63) * Locking device
e \W.T.:-20°C~200°C (-4°F~392°F) * Socket weld ends:
® Investment casting » ASMEB16.11
* Blow-out proof stem » DIN3239
e Silicone Free » |SO7/1 & EN10226
MATERIAL
B310SMRTXXX | B310SCRTXXX
1 BODY
7 CAP ASTM A351-CF8M ASTM A216-WCB
3 BALL ASTM A351-CF8M
4 SEAT RTFE
5 SEAL
e ’ ? 6 PACKING PTFE
‘ 7 THRUST WASHER
8 STEM ASTM A276-316
* ‘ 9 GLAND
! 5 B 10 SPRING WASHER
=0 11 STEM NUT
| —i‘— 14 B m BT AISI 304
‘ : 13 NUT
jl 14 SPRING WASHER
(3D @ 3@ G G T o So 15 LOCKING DEVICE
L o g HANDLE STAINLESS STEEL
17 HANDLE SLEEVE PVC
| Torque (N-m) | Weight (kg)
8 11.6 14.5 65 10 60.2 98 5.0 3/8"-24UNF 35 0.4
10 12.5 18.0 65 10 60.2 98 5.0 3/8"-24UNF 4.0 0.4
15 15.0 22.0 65 10 62.2 98 5.0 3/8"-24UNF 5.5 05
20 20.0 27.5 75 13 64.6 121 6.5 7/16"-20UNF 15 0.7
25 25.0 34.0 85 13 80.1 147 8.0 7/16"-20UNF 11.0 1.1
32 32.0 43.0 101 13 85.1 147 8.0 7/16"-20UNF 15.0 1.6
40 38.0 49.0 112 13 103.0 188 10.0 1/2"-20UNF 20.0 2.4
50 50.0 61.0 130 16 111.0 188 10.0 1/2"-20UNF 40.0 3.1
65 63.0 74.0 162 16 142.0 245 12.0 3/4"-10UNC 60.0 6.5
80 76.0 90.0 188 16 150.0 245 12.0 3/4"-10UNC 85.0 9.5
100 96.0 115.5 224 20 182.0 316 16.0 1"-8UNC 150.0 19.0
unit: mm
| Torque (in- | Weight (Ib)
1/4" 0.46 0.57 2.56 0.39 2.37 3.86 0.20 3/8"-24UNF 31.0 0.8
3/8" 0.49 0.71 2.56 0.39 2.37 3.86 0.20 3/8"-24UNF 35.4 0.8
1/2" 0.59 0.87 2.56 0.39 2.45 3.86 0.20 3/8"-24UNF 48.7 1.1
3/4" 0.79 1.08 2.95 051 2.54 476 0.26 7/16"-20UNF 66.4 1.5
1" 0.98 1.34 3.35 051 3.15 5.79 0.31 7/16"-20UNF 97.4 2.3
1-1/4" 1.26 1.69 3.98 051 3.35 5.79 0.31 7/16"-20UNF 132.8 35
1-1/2" 1.50 1.93 441 051 406 7.40 0.39 1/2"-20UNF 177.0 5.3
2" 1.97 2.40 5.12 0.63 437 7.40 0.39 1/2"-20UNF 354.0 6.8
2-1/2" 2.48 2.91 6.38 0.63 5.59 9.65 0.47 3/4"-10UNC 531.0 14.3
3" 2.99 3.54 7.40 0.63 5.91 9.65 0.47 3/4"-10UNC 752.3 20.9
4" 3.78 455 8.82 0.79 7.17 12.44 0.63 1"-8UNC 1327.6 4.9
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B710TM - B710TC (1/4” - 27)
3-PC THREADED BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
Full port, 1/4"~ 2" (DN8~DN50)
W.P. : 1000 WOG (PN63)

Investment casting
Blow-out proof stem
Live-loading design
Locking device
Silicone Free

W.T. : -20°C~200°C (-4°F~392°F)

Supplied with lever handle
Anti-static device

Direct mounting pad IS0 5211
Automation accessories (option)
Thread type :

» ASME B1.20.1 (NPT)

» DIN2999 & BS21

» 1S07/1 & EN10226

MATERIAL
B710TMMTXXX | B710TCMTXXX

; BSEPY ASTM A351-CF8M | ASTM A216-WCB
3 BALL ASTM A351-CF8M
4 SEAT TFM 1600
5 SEAL PTFE
6 STEM ASTM A276-316
7 0-RING VITON
8 PACKING
1 9 THRUST WASHER PTFE
= == 10 GLAND RING AISI 304
mﬁﬁ& ams o= 1; BELLE\QEk/ﬁI\\/I\(JATSHER AISI 301
. VW\MWVVV\NM |-l B LOCK WASHER AISI 308
M 14| LOCKING DEVICE
w%%%\f/%&\'\w 15 HANDLE STAINLESS STEEL
='my = 16 HANDLE SLEEVE PVC
17 BOLT
t 18 NUT AISI 304
19 SPRING WASHER
‘ D1 ‘ D2 ‘ R1 ‘ R? ‘ISOSZHIM,V\MW
| Breakaway | Action | (kg)
8 [116]145] 65 | 10 [610] 75 | 3531145 9 | 36 | 42 | 28 | 28 | Fo3/ros 7 4 0.6
10 125180 65 | 10 [610| 75 [ 353 [1145] 9 | 36 | 42 | 28 | 28 | ro3/roa 7 4 0.6
15 | 150|220 65 | 10 | 627 | 71 [ 364 [1145] 9 | 36 | 42 | 28 | 28 | ro3/roa 7 4 0.6
20 [200[275] 75 | 13 [ 651 | 73 | 3951145 9 | 36 | 42 | 28 | 28 | Fo3/Fro4 9 5 0.7
25 | 250340 85 | 13 | 765 | 110 | 490 [1400| 11 | 42 | 50 | 28 | 35 | Foasros 15 g 11
32 [ 32040 101 | 13 [ 820 95 | 542 [1400] 11 | 42 | 50 | 28 | 35 | Foasros 18 11 17
40 [ 380 [ 490 [ 112 [ 13 [1020] 124 [ 646 [1720] 14 | 50 | 70 | 35 | 45 | Fos/ro7 25 15 26
50 [ 500|610 130 | 16 [1101] 136 | 725 [1720] 14 | 50 | 70 | 35 | 45 | ro5/F07 35 21 3.7
unit: mm

| Torque (in-Ib) | Weight
‘ 1805211 | Breakaway | Action | (Ib)
F03/F04 62.0 354 1.2
FO3/F04 62.0 354 1.2
FO3/F04 62.0 354 12
F03/F04 79.7 443 1.6
FO4/F05 132.8 79.7 24
F04/F05 159.3 974 37

1/4" | 046 | 057 | 256 | 0.39 | 240 | 030 | 1.39 | 451 | 035 | 142 | 165 | 0.11 | 0.1
3/8” | 049 | 0.71 | 256 | 0.39 | 240 | 0.30 | 1.39 | 451 [ 035 | 1.42 | 1.65 | 0.11 | 0.11
1/2" 1 059 | 0.87 | 256 | 0.39 | 247 | 028 | 1.43 | 451 | 0.35 | 142 | 165 | 0.11 | 0.1
3/4" |1 079 | 1.08 | 295 | 0.51 | 256 | 029 | 1.56 | 451 [ 035 | 142 | 1.65 | 0.11 | 0.11
1" 098 | 1.34 | 3.35 | 051 | 3.01 | 0.43 | 1.93 | 551 | 043 [ 1.65 | 1.97 | 0.11 | 0.14
1-1/4" 1 1.26 | 1.69 | 398 [ 051 | 323 | 037 | 213 | 551 | 043 | 165 | 1.97 | 0.11 | 0.14

1-1/2" 1 150 [ 1.93 | 441 | 051 | 402 | 049 | 254 | 6.77 | 055 | 1.97 | 276 | 0.14 | 0.18 | FO5/F07 2213 132.8 5.8

2" 1.97 | 240 | 512 | 063 | 433 | 054 | 285 | 6.77 | 055 | 1.97 | 276 | 0.14 | 0.18 | FO5/F07 309.8 185.9 8.1
FOR ADDITIONAL SIZES SEE NEXT PAGE unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B710TM - B710TC (2-1/2" - 47)
3-PC THREADED BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
* Full port, 2-1/2"~ 4" (DN65 ~ DN100) ® Supplied with lever handle
e W.P.:1000 WOG (PN63) * Anti-static device
e W.T.:-20°C~200°C (-4°F~392°F) ¢ Direct mounting pad IS0 5211
* |nvestment casting * Automation accessories (option)
® Blow-out proof stem ¢ Thread type :
® Live-loading design » ASME B1.20.1 (NPT)
® |ocking device » DIN2999 & BS21
e Silicone Free » 1S07/1 & EN10226
MATERIAL
PARTS
B710TMMTXXX | B710TCMTXXX
1 BODY
2 CAP ASTM A351-CF8M | ASTM A216-WCB
3 BALL
4 SEAT TFM 1600
5 SEAL PTFE
6 STEM ASTM A276-316
7 0-RING VITON
8 PACKING
PTFE
= 9 THRUST WASHER
2 10 GLAND RING AISI 304
1 BELLEVILLE WASHER AISI 301
ummum | 2 | sewr
1 | T
\\\\Q?”’///// %%\\ 14 LOCKING DEVICE
I ;/[/l'llll”[lll,’i&
15 HANDLE
2.1/2" 37 . 4" 16 BOLT AISI 304
17 NUT
18 SPRING WASHER
19 BOLT
20 NUT
IS0 | Torque (N-M) |Weight
5211 | Breakaway | Action )
65 63 | 740 | 162 16 1273 163 | 92 325 17 70 102 | 45 55 | FO7/F10 55 33 74
80 76 | 90.0 | 188 16 | 136.3 | 16.3 | 100 | 325 17 70 102 | 45 55 | FO7/F10 70 42 10.3
100 9% |[1155| 224 20 [1425| 205 | 130 | 325 22 102 | 125 | 55 6.5 | F10/F12 90 54 19.9
unit: mm
1SO Torque (in-lb) Weight
5211 |Breakaway| Action | (Ib)
2-1/2" | 248 | 291 | 6.38 | 063 | 5.01 | 064 | 362 | 128 | 067 | 2.76 | 402 | 0.18 | 0.22 | FO7/F10 486.8 292.1 16.3
3" 299 | 354 | 740 | 063 | 537 | 064 | 394 | 128 | 067 | 276 | 402 | 0.18 | 0.22 | FO7/F10 619.5 371.7 22.7
4" 378 | 455 | 882 | 079 | 561 | 081 | 512 | 128 | 0.87 | 402 | 492 | 0.22 | 0.26 | F10/F12 796.6 4779 439
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com

21



POWELL VALVES SINCE 1846

SERIES: B710SM -

B710SC (1/4" - 2)

3-PC SOCKET WELD BALL VALVE
Stainless / Carbon Steel

22

DESIGN FEATURES:
e Full port, 1/4"~ 2" (DN8~DN50) * Anti-static device
e W.P.:1000 WOG (PN63) ¢ Direct mounting pad IS0 5211
e W.T.:-20°C~200°C (-4°F~392°F) * Automation accessories (option)
* Investment casting * Socket Weld Ends:
e Blow-out proof stem » ASMEB16.11
* Live-loading design » DIN3239
¢ |ocking device » 1S07/1 & EN10226
¢ Silicone Free
MATERIAL
IS B710SMMTXXX B710SCMTXXX
1 BODY
7 AP ASTM A351-CF8M | ASTM A216-WCB
3 BALL ASTM A351-CF8M
4 SEAT TFM 1600
5 SEAL PTFE
6 STEM ASTM A276-316
7 0-RING VITON
8 PACKING
9 THRUST WASHER PTFE
10 GLAND RING AISI 304
11 BELLEVILLE WASHER AISI 301
12 STEM NUT
13 LOCK WASHER AISI 304
14 LOCKING DEVICE
15 HANDLE STAINLESS STEEL
16 HANDLE SLEEVE PVC
17 BOLT
18 NUT AISI 304
19 SPRING WASHER
| Torque (N-M) | Weight
S R1 ‘ R2 ‘ [SO 5211 ’m‘y—m (kg
8 11.6 65 61.0 | 75 | 353 [ 1145 9 36 42 28 28 F03/F04 7 4 0.6
10 12.5 65 61.0 1.5 353 | 1145 9 36 42 2.8 2.8 FO3/F04 7 4 0.6
15 15.0 65 62.7 7.1 36.4 | 1145 9 36 42 2.8 2.8 FO3/F04 7 4 0.6
20 20.0 75 65.1 7.3 395 | 1145 9 36 42 2.8 2.8 FO3/F04 9 o 0.7
25 25.0 85 76.5 11.0 | 49.0 | 140.0 1 42 50 2.8 35 F04/F05 15 9 1.1
32 32.0 | 101 82.0 | 115 | 542 | 140.0 [ 11 42 50 28 30 F04/F05 18 11 1.7
40 38.0 [ 112 | 1020 | 124 | 646 | 1720 | 14 50 70 35 45 F05/F07 25 15 26
50 500 | 130 ] 110.1 | 136 | 725 | 1720 14 50 70 35 45 F05/F07 35 21 37
| | unit: mm
Torque (in-Ib) .
‘ s Breakaway | Action thetua
1/4" | 046 | 256 | 240 | 030 | 139 | 451 [ 035 | 142 | 165 [ 011 | 0.11 F03/F04 62.0 35.4 1.2
3/8" | 049 | 256 [ 240 | 030 | 139 [ 451 | 035 | 142 [ 165 | 011 | 0.11 F03/F04 62.0 35.4 1.2
1/2" 059 | 256 | 247 | 0.28 143 | 451 0.35 1.42 165 | 0.1 0.11 FO3/F04 62.0 35.4 12
3/4" 079 | 295 | 256 | 0.29 156 | 451 035 [ 142 165 | 0.11 0.11 FO3/F04 79.7 443 1.6
1" 098 | 335 | 301 | 043 | 193 | 551 | 043 | 1.65 [ 197 | 011 | 0.14 [ F04/F05 132.8 79.7 2.4
1-1/4" 1 126 | 398 | 323 [ 045 [ 213 5 5/l 0.43 1.65 197 | 0.1 0.14 F04/F05 159.3 974 3.7
1-1/2" 1 150 | 4.4 402 | 049 | 254 | 6.77 | 055 197 | 276 | 014 | 0.18 FO5/F07 221.3 132.8 5.7
2" 1.97 | 512 | 433 | 054 | 285 | 677 | 055 | 197 [ 276 | 0.14 | 0.18 [ F05/F07 309.8 185.9 8.2
FOR ADDITIONAL SIZES SEE NEXT PAGE unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWELL VALVES SINCE 1846

SERIES: B710SM - B710SC (2-1/2" - 47)
3-PC SOCKET WELD BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
* Fullport, 2 1/2"~ 4" (DN65~DN100) ® Anti-static device
e W.P.:1000 WOG (PN63) ¢ Direct mounting pad IS0 5211
e \W.T.:-20°C~200°C (-4°F~392°F) * Automation accessories (option)
® Investment casting * Socket Weld Ends:
* Blow-out proof stem » ASMEB16.11
® Live-loading design » DIN3239
® Locking device » 1S07/1 & EN10226
¢ Silicone Free
| MATERIAL
PARTS
B710SMMTXXX | B710SCMTXXX
1 BODY
2 CAP ASTM A351-CF8M | ASTM A216-WCB
3 BALL
4 SEAT TFM 1600
5 SEAL PTFE
6 STEM ASTM A276-316
7 0-RING VITON
8 PACKING
PTFE
9 THRUST WASHER
10 GLAND RING AISI 304
" BELLEVILLE WASHER AISI 301
\\\|\\§H,,//{////// iﬁ%\\}‘ » 12 STEM NUT
o o i i e 13 LOCK WASHER
14 LOCKING DEVICE
AISI 304
15 BOLT
16 NUT
17 SPRING WASHER

| Torque (N-M) | ;
R2 N ORYAN - Weight (kg)
Breakaway Action
65 63 162 16.3 92 17 70 102 45 55 FO7/F10 55 33 74
80 76 188 16.3 100 17 70 102 45 55 FO7/F10 70 42 10.3
100 96 224 205 130 22 102 125 5.5 6.5 F10/F12 90 54 19.9
unit: mm

Torque (in-Ib) .
[SO 5211 Weight (Ib)

|Breakaway| Action |

2-1/2" 2.48 6.38 0.64 3.62 0.67 2.76 402 0.18 0.22 FO7/F10 486.8 292.1 16.3

3" 2.99 7.40 0.64 3.94 0.67 2.76 4.02 0.18 0.22 FO7/F10 619.5 3717 22.7

4" 3.78 8.82 0.81 5.12 0.87 4.02 492 0.22 0.26 F10/F12 796.6 4779 439
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B920SM - B920SC (1/4” - 3/4")
3-PC SOCKET WELD END BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
* Fullport, 1/4"~3/4" (DN8-DN20) ~ * Locking device
e WP.: ¢ Thread Type:
» 1/4” ~1" - 2000 WOG »  ASME B1.20.1 (NPT)
e \W.T.:-20°C~200°C (-4°F~392°F) »  DIN2999 & BS21
* |nvestment casting » 1S07/1 & EN10226
* Blow-out proof stem * NACE MR0103
¢ Silicone Free * API 607 Fire Safe Approved
* Anti-static device ¢ API 608 Design
MATERIAL
ITEM PARTS
B920SMRGXXX | B920SCRGXXX
1 BODY ASTM A351-CF8M
ASTM A216-WCB
2 CAP ASTM A351-CF3M
3 BALL ASTM A351-CF8M
4 STEM ASTM A276-316
5 BALL SEAT RTFE
6 GASKET GRAPHITE
7 THRUST WASHER CTFE
8 PACKING GRAPHITE
D; o 9 GLAND RING AISI 304
10 DISC SPRING AISI 301
& Q8T —- T - " LOCK PAD ASTM A167-304
| —IT% L 12 STEM NUT ASTM A194-8A
L 13 BOLT ASTM A193-B8A
@5 N 3G (Jg) 14 NUT ASTM A194-8A
- 15 STOPPIN AIS| 304
16 HANDLE STAINLESS STEEL
17 HANDLE SLEEVE PVC
Torque | Weight
Cw [ | | w | s ||
8 8 140 | 250 | 657 | 10 | 570 | 121 | 98 | 1135 57 | 36 FO3 M5%0.8 | 3/8"-24UNF | 3.8 0.7
10 10 | 180 | 25.0 | 657 | 10 | 57.0 | 121 | 98 | 1135 | 57 | 36 FO3 M5%0.8 | 3/8"-24UNF | 3.8 0.7
15 15 220 | 303 | 748 10 57.0 | 121 98 | 1135 | 57 36 F03 M5*0.8 | 3/8"-24UNF 3.8 0.8
20 20 275 | 36.0 | 80.2 13 59.7 | 145 | 106 [ 1135 | 57 36 F03 M5*0.8 | 3/8"-24UNF 5.1 09
unit: mm

Torque | Weight

(in-Ib) (Ib)
1/4" | 031 | 055 | 098 | 259 | 039 | 224 | 048 | 039 | 447 | 022 | 1.42 FO3 M5*0.8 | 3/8"-24UNF | 338 1.6
3/8" [ 039 | 071 | 098 | 259 | 0.39 | 224 | 048 | 039 | 447 | 022 | 142 FO3 M5*0.8 | 3/8"-24UNF | 338 1.6
1/2" |1 059 | 087 | 1.19 | 294 | 039 | 224 | 048 | 039 | 447 | 022 | 1.42 FO3 M5*0.8 | 3/8"-24UNF | 338 1.7
3/4" [ 079 | 1.08 | 142 | 316 | 051 | 235 | 057 | 042 | 447 | 022 | 142 FO3 M5*0.8 | 3/8"-24UNF | 45.1 1.9

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B920SM - B920SC (1" - 2")
3-PC SOCKET WELD END BALL VALVE

Stainless / Carbon Steel
DESIGN FEATURES:

2E
@01
2]
#d
|

|

Full port, 1"~ 2" (DN25~DN50)
W.P.:

» 1/4" ~1" - 2000 WOG

» 1-1/4" ~2" - 1500 WOG
W.T. : -20°C~200°C (-4°F~392°F)
Investment casting

Blow-out proof stem

Silicone Free

Anti-static device

Locking device

Thread Type:

»  ASME B1.20.1 (NPT)

»  DIN2999 & BS21

» 1S07/1 & EN10226

NACE MR0103

API 607 Fire Safe Approved
API'608 Design

MATERIAL
PARTS
B920SMRGXXX B920SCRGXXX
1 BODY ASTM A351-CF8M
ASTM A216-WCB
2 CAP ASTM A351-CF3M
3 RETAINER
ASTM A351-CF8M
4 BALL
5 STEM ASTM A276-316
i 6 BALL SEAT RTFE
) 7 GASKET GRAPHITE
8 THRUST WASHER CTFE
9 PACKING GRAPHITE
= 10 GLAND RING AISI 304
1 DISC SPRING AISI 301
12 LOCK PAD ASTM A167-304
13 STEM NUT ASTM A194-8A
14 BOLT ASTM A193-B8A
15 NUT ASTM A194-8A
16 STOP PIN AISI 304
17 HANDLE STAINLESS STEEL
18 SPRING WASHER AISI 304
19 HANDLE SLEEVE PVC

Torque | Weight

(N-M) | (kg)

25 24 | 266|345 | 448|930 | 13 | 815 | 155 | 140 | 146 | 75 | 42 Fo4 M5*0.8 | 7/16"-20UNF | 10.2 17
32 30 | 350 | 430|540 |1106| 13 | 859 | 155 | 15.0 [ 146 | 75 | 42 Fo4 M5*0.8 | 7/16"-20UNF | 159 2.7
40 38 | 410|490 | 62.0 | 1226 13 | 967 | 27.3 | 187 | 180 | 86 | 50 F05 M6*1.0 | 9/16"-18UNF | 21.0 39
50 50 | 525|612 | 760 | 1400 | 16 [1049| 28.1 | 190 | 180 | 86 | 50 F05 M6*1.0 | 9/16"-18UNF | 32.1 6.2
unit: mm

e s | w5 [T e

1" | 094 [ 1.05 (136|176 | 3.66 | 0.51 | 321 [ 0.61 | 0.55 | 5.75 | 0.30 | 1.65 Fo4 M5*0.8 | 7/16"-20UNF | 90.2 38
1-1/4" 1 118 | 1.38 | 169 | 213 | 435 | 0.51 | 3.38 | 0.61 | 0.59 | 5.75 | 0.30 | 1.65 Fo4 M5*0.8 | 7/16"-20UNF | 141.0 6.0
1-1/2"1 15 | 161 | 193 | 244 | 483 | 051 | 381 | 1.07 | 0.74 | 7.09 | 0.34 | 1.97 F05 M6*1.0 | 9/16"-18UNF | 186.0 8.5
2" 1971 207 | 241 | 299 | 551 | 063 | 413 | 1.11 | 0.75 | 7.09 | 0.34 | 1.97 F05 M6*1.0 | 9/16"-18UNF | 284.1 13.6
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWELL VALVES SINCE 1846

SERIES: B920SM - B920SC (1/4” - 3/4")
3-PC SOCKET WELD END BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
* Fullport, 1/4"~3/4" (DN8-DN20) ~ * Locking device
e WP.: ¢ Thread Type:
» 1/4” ~1" - 2000 WOG »  ASME B1.20.1 (NPT)
e \W.T.:-20°C~200°C (-4°F~392°F) »  DIN2999 & BS21
* |nvestment casting » 1S07/1 & EN10226
* Blow-out proof stem * NACE MR0103
¢ Silicone Free * API 607 Fire Safe Approved
* Anti-static device ¢ API 608 Design
MATERIAL
ITEM PARTS
B920SMRGXXX | B920SCRGXXX
1 BODY ASTM A351-CF8M
ASTM A216-WCB
2 CAP ASTM A351-CF3M
3 BALL ASTM A351-CF8M
4 STEM ASTM A276-316
5 BALL SEAT RTFE
6 GASKET GRAPHITE
7 THRUST WASHER CTFE
8 PACKING GRAPHITE
D; o 9 GLAND RING AISI 304
10 DISC SPRING AISI 301
& Q8T —- T - " LOCK PAD ASTM A167-304
| —IT% L 12 STEM NUT ASTM A194-8A
L 13 BOLT ASTM A193-B8A
@5 N 3G (Jg) 14 NUT ASTM A194-8A
- 15 STOPPIN AIS| 304
16 HANDLE STAINLESS STEEL
17 HANDLE SLEEVE PVC
Torque | Weight
Cw [ | | w | s ||
8 8 140 | 250 | 657 | 10 | 570 | 121 | 98 | 1135 57 | 36 FO3 M5%0.8 | 3/8"-24UNF | 3.8 0.7
10 10 | 180 | 25.0 | 657 | 10 | 57.0 | 121 | 98 | 1135 | 57 | 36 FO3 M5%0.8 | 3/8"-24UNF | 3.8 0.7
15 15 220 | 303 | 748 10 57.0 | 121 98 | 1135 | 57 36 F03 M5*0.8 | 3/8"-24UNF 3.8 0.8
20 20 275 | 36.0 | 80.2 13 59.7 | 145 | 106 [ 1135 | 57 36 F03 M5*0.8 | 3/8"-24UNF 5.1 09
unit: mm

Torque | Weight

(in-Ib) (Ib)
1/4" | 031 | 055 | 098 | 259 | 039 | 224 | 048 | 039 | 447 | 022 | 1.42 FO3 M5*0.8 | 3/8"-24UNF | 338 1.6
3/8" [ 039 | 071 | 098 | 259 | 0.39 | 224 | 048 | 039 | 447 | 022 | 142 FO3 M5*0.8 | 3/8"-24UNF | 338 1.6
1/2" |1 059 | 087 | 1.19 | 294 | 039 | 224 | 048 | 039 | 447 | 022 | 1.42 FO3 M5*0.8 | 3/8"-24UNF | 338 1.7
3/4" [ 079 | 1.08 | 142 | 316 | 051 | 235 | 057 | 042 | 447 | 022 | 142 FO3 M5*0.8 | 3/8"-24UNF | 45.1 1.9

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B920SM - B920SC (1" - 2")
3-PC SOCKET WELD END BALL VALVE

Stainless / Carbon Steel
DESIGN FEATURES:

2E
@01
2]
#d
|

|

Full port, 1"~ 2" (DN25~DN50)
W.P.:

» 1/4" ~1" - 2000 WOG

» 1-1/4" ~2" - 1500 WOG
W.T. : -20°C~200°C (-4°F~392°F)
Investment casting

Blow-out proof stem

Silicone Free

Anti-static device

Locking device

Thread Type:

»  ASME B1.20.1 (NPT)

»  DIN2999 & BS21

» 1S07/1 & EN10226

NACE MR0103

API 607 Fire Safe Approved
API'608 Design

MATERIAL
PARTS
B920SMRGXXX B920SCRGXXX
1 BODY ASTM A351-CF8M
ASTM A216-WCB
2 CAP ASTM A351-CF3M
3 RETAINER
ASTM A351-CF8M
4 BALL
5 STEM ASTM A276-316
i 6 BALL SEAT RTFE
) 7 GASKET GRAPHITE
8 THRUST WASHER CTFE
9 PACKING GRAPHITE
= 10 GLAND RING AISI 304
1 DISC SPRING AISI 301
12 LOCK PAD ASTM A167-304
13 STEM NUT ASTM A194-8A
14 BOLT ASTM A193-B8A
15 NUT ASTM A194-8A
16 STOP PIN AISI 304
17 HANDLE STAINLESS STEEL
18 SPRING WASHER AISI 304
19 HANDLE SLEEVE PVC

Torque | Weight

(N-M) | (kg)

25 24 | 266|345 | 448|930 | 13 | 815 | 155 | 140 | 146 | 75 | 42 Fo4 M5*0.8 | 7/16"-20UNF | 10.2 17
32 30 | 350 | 430|540 |1106| 13 | 859 | 155 | 15.0 [ 146 | 75 | 42 Fo4 M5*0.8 | 7/16"-20UNF | 159 2.7
40 38 | 410|490 | 62.0 | 1226 13 | 967 | 27.3 | 187 | 180 | 86 | 50 F05 M6*1.0 | 9/16"-18UNF | 21.0 39
50 50 | 525|612 | 760 | 1400 | 16 [1049| 28.1 | 190 | 180 | 86 | 50 F05 M6*1.0 | 9/16"-18UNF | 32.1 6.2
unit: mm

e s | w5 [T e

1" | 094 [ 1.05 (136|176 | 3.66 | 0.51 | 321 [ 0.61 | 0.55 | 5.75 | 0.30 | 1.65 Fo4 M5*0.8 | 7/16"-20UNF | 90.2 38
1-1/4" 1 118 | 1.38 | 169 | 213 | 435 | 0.51 | 3.38 | 0.61 | 0.59 | 5.75 | 0.30 | 1.65 Fo4 M5*0.8 | 7/16"-20UNF | 141.0 6.0
1-1/2"1 15 | 161 | 193 | 244 | 483 | 051 | 381 | 1.07 | 0.74 | 7.09 | 0.34 | 1.97 F05 M6*1.0 | 9/16"-18UNF | 186.0 8.5
2" 1971 207 | 241 | 299 | 551 | 063 | 413 | 1.11 | 0.75 | 7.09 | 0.34 | 1.97 F05 M6*1.0 | 9/16"-18UNF | 284.1 13.6
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWELL VALVES SINCE 1846

SERIES: B110TM - STAINLESS STEEL
1-PC. SCREWED END BALL VALVE

(/4" - 2°)

DESIGN FEATURES:
e Reduced port, 1/4"~2" e Silicone Free
(DN8~DN80) e |ocking device
e W.P.: 1000 WOG (PN63) e Thread type:
e W.T.:-20°C~200°C »  ASME B1.20.1 (NPT)
(-4°F~392°F) »  DIN2999 & BS21
e Investment casting » 1S07/1 & EN10226
e Blow-out proof stem
| MATERIAL
[TEM PARTS
B110TMRTXXX
1 BODY ASTM A351-CF8M
2 RETAINER AISI 316
3 BODY SEAL (1) PTFE
4 BALL AISI 316
w
5 SEAT PTFE
| ‘ g 6 STEM AISI 316
SEEM @6 ® ® 7 THRUST WASHER
PTFE
T 8 PACKING
b g GLAND WASHER
\ m 10 HANDLE
- T - sl © \ + /A 11 SPRING WASHER AISI 304
‘ i E;J%é // 12 NUT
v L
oo L &) 13 LOCKING DEVICE
@
ERS) 14 HANDLE SLEEVE PVC
L (1) 1-1/4" - 2" size only

| Torque (N-M) Weight (kg)
8 5.0 39.0 20.0 38.0 67.0 17.0 0.8 0.1
10 7.0 440 235 394 85 21.0 1.3 0.1
15 9.2 55.5 285 51.0 90.0 245 1.9 02
20 12.5 59.0 29.0 51.5 90.0 32.0 26 0.3
25 16.0 71.0 36.0 535 101.5 38.0 45 0.4
32 20.0 78.0 40.0 61.5 101.5 49.0 7.0 0.7
40 25.0 83.0 42.5 65.4 132.0 53.0 8.9 0.9
50 32.0 100.0 51.0 71.0 132.0 65.0 96 1.4
unit: mm
Torque (in-Ib) Weight (Ib)
1/4" 0.20 1.54 0.79 1.50 2.64 0.67 6.7 0.2
3/8" 0.28 1.73 0.93 1.55 297 0.83 11.2 0.2
1/2" 0.36 219 1.12 2.01 354 0.96 16.9 0.4
3/4" 0.49 2.32 1.14 2.03 3.54 1.26 22.6 0.6
1" 0.63 2.80 1.42 2.1 4.00 1.50 39.5 09
1-1/4" 0.79 3.07 1.57 2.42 4.00 1.93 62.0 1.6
1-1/2" 0.98 3.27 1.67 2.57 5.20 2.09 78.9 1.9
2" 1.26 3.94 2.01 2.80 5.20 2.56 84.6 30
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWELL VALVES SINCE 1846

SERIES: B203FM - B203FC - 300#
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (1/2” - 47)

DESIGN FEATURES:
Full port, 1/2"~4" (DN15~DN100)
W.P. : CLASS 300

. Anti-static device (option)
PCD_gD1 e W.T.:-20°C~200°C (-4°F~392°F)
,’ [ ]

Locking device

Mounting pad IS0 5211
Flange dimension: ASME B16.5
Face to face: ASME B16.10

Investment casting
Blow-out proof stem

Silicone Free
PARTS | MATERIAL
B203FMMTXXX [ B203FCMTXXX
" | ; B&Dg ASTM A351-CF8M | ASTM A216-WCB
@E g — 3 BALL ASTM A351-CF8M
 Je 5 4 SEAT TFM 1600
= : o 5 SEAL
= E o B U § 6 | THRUST WASHER PTFE
S 7 PACKING
| o 8 STEM ASTM A276-316
T T N T8 8¢ 9 GLAND NUT
1 : 10 STOP PIN AISI 304
B TR 11 HANDLE STAINLESS STEEL
I : o 12 HANDLE SLEEVE PVC
i @6 P2® © |1 13 STEM NUT
- 14 | SPRING WASHER AISI 304
15 BOLT

, | Torque (N-m) | weight

Breakaway | Action | (ka)

15 15 | 35 | 665 | 95 [ 140 | 857 | 57.2 (237 | 169 | 143 | 16 [ 8 42 - 16 | M5 - 7.5 5.0 2.0
20 | 20 | 43 | 825|117 | 152 | 885 [ 60.0 | 235 | 169 [ 158 | 1.6 | 8 42 - 19 [ M5 - 7.6 50 3.2
25 | 25 | 51 [89.0] 124 | 165 |103.3| 738 | 28.0 | 205 [ 175 | 16 | 10 | 50 - 19 | M6 - 17.5 15.1 3.8
32 | 32 | 64 | 985|133 | 178 |108.0| 785 | 29.0 | 205 [ 19.1 | 1.6 | 10 | 50 - 19 | M6 = 20.0 17.2 5.6
40 | 38 | 73 |114.5] 156 | 190 |128.4(102.9]| 39.4 | 266 [ 206 | 1.6 | 12 | 70 - 22 | M8 - 22.9 205 | 8.1
50 50 | 92 [127.0] 165 | 216 |1359(110.4| 39.4 | 266 | 224 [ 16 | 12 | 70 = 19 [ M8 - 32.2 27.2 | 103
65 | 63 | 105 |149.0| 190 | 241 |147.6(122.1]| 386 | 298 [ 254 | 1.6 | 12 | 70 - 22 | M8 - 42.3 342 | 16.1
80 | 76 | 127 |168.0| 210 | 282 |167.5(142.0| 43.0 | 390 [ 285 | 1.6 | 15 | 70 | 102 | 22 | M8 [ M10 87.2 746 | 227
100 | 100 | 157 |200.0 254 | 305 |182.5(157.0| 43.0 | 390 | 318 | 1.6 | 156 | 70 [ 102 | 22 | M8 [ M10 98.2 752 | 36.7

unit: mm
Torque (in-lb) [ Weight

2 | Breakaway | Action |~ (Ib)

1/2" {059 ]1.38| 262 | 3.74 [ 551 | 3.37 | 2.25 [ 0.93 | 6.65 | 0.56 [ 0.06 | 0.31 | 1.65| - | 0.63 | M5 - 66.4 443 | 44
3/4" 1079 [1.69| 3.25 [ 461|598 | 348 | 2.36 | 0.93 [ 6.65 | 0.62 | 0.06 [ 0.31 | 165 - |0.75| M5 - 67.3 443 | 7.1
1" [0.98]2.01| 350 |4.88|650| 407|291 |114]807|069[006]039(197] - |075| M6 - 154.9 133.7 | 84
1-1/4" | 1.26 | 2.52 | 3.88 | 5.24| 7.01 | 425 | 3.09 | 1.14 [ 8.07 | 0.75 | 0.06 | 0.39 | 1.97 | - |0.75| M6 = 177.0 152.2 | 12.3
1-1/2"11.50 | 2.87 | 451 | 6.14| 7.48 | 5.06 | 405 | 1.55 [10.47]| 0.81 | 0.06 [ 0.47 | 276 | - | 0.75| M8 - 202.7 1814 | 179
2" 11.97[362|5.00 [650] 850 [535|435] 1.55 (1047 0.88 | 0.06 [ 047|276 - | 087 | M8 - 2850 | 240.7 | 22.7
2-1/2" | 248 1413 | 587 | 7.48 | 9.49 | 581 | 481 [ 1.52 |11.73] 1.00 [ 0.06 | 0.47 | 276 | - | 0.87 | M8 - 3744 13027 | 355
3" 1299500 6.61 [827] 11.1 [ 6.59 [ 559 | 1.69 [15.35| 1.12 | 0.06 [ 0.59 | 2.76 | 402 | 0.87 | M8 | M10 | 771.8 | 660.3 | 50.0
4" [394(6.18| 7.87 | 10.0 [12.01| 7.19 | 6.18 | 1.69 |15.35| 1.25 | 0.06 | 0.59 | 2.76 | 4.02 | 0.87 | M8 | M10 | 869.2 | 6656 | 80.9

FOR ADDITIONAL SIZES SEE NEXT PAGE unit:in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B203FM - B203FC - 300#
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (6”)

DESIGN FEATURES:

Full port, 6”" (DN150)

W.P. : CLASS 300

W.T. : -20°C~200°C (-4°F~392°F)
Investment casting

Blow-out proof stem
Anti-static device (option)
Locking device

Mounting pad IS0 5211
Flange dimension: ASME B16.5
Face to face: ASME B16.10

| SARTS | MATERIAL
‘ B203FMMTXXX | B203FCMTXXX
| — ; Bé)ADPY ASTM A351-CF8M | ASTM A216-WCB
@ 3 BALL ASTM A240-316
4 SEAT TFM 1600
5 SEAL
6| THRUST WASHER PTFE
7 PACKING
8 STEM ASTM A276-316
= 9 GLAND
°l S 10 STOPPER
11 | CIRCLIPS FOR
SHAFT
12 |  STEELTUBE AIS! 304
13| WRENCH BLOCK
14 BOLT
15 BOLT
. 16| HANDLE SLEEVE PVC

Torque INM) | weight
Breakaway | Action | (kg)
150 | 150 | 216 | 270 3175 403 | 256.5( 220 50 743 | 125 | 366 | 1.6 | M12X1.75 | 225 185 165 79

unit: mm

| Torquelinb) | weight

Breakaway | Action | (Ib)

6" | 591 | 85 |10.63| 125 | 1587 | 10.1 | 8.66 | 1.97 [29.25| 4.92 | 1.44 | 0.06 | M12X1.75 | 0.89 1637.4 1460.4 | 1742

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B201FM - B201FC - 150#
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (1/2” - 47)

DESIGN FEATURES:

* Fullport, 1/2"~4" (DN15~DN100) ~ ® Anti-static device

* W.P.: CLASS 150 * |ocking device

e W.T.:-20°C~200°C (-4°F~392°F)  * Mounting pad IS0 5211

* Investment casting * Flange dimension: ASME B16.5
¢ Blow-out proof stem * Face to face: ASME B16.10

¢ Silicone Free

MATERIAL
B201FMMTXXX | B201FCMTXXX

N 1 S0 ASTM A351-CF8M | ASTM A216-WCB
2 CAP
3 BALL ASTM A351-CF8M
s 4 SEAT TFM 1600
é ‘g S — ) 5 SEAL
42 1 6 THRUST WASHER PTFE
) oA — 7 PACKING
T ? g% B elc B 8 STEM ASTM A276-316
7 ‘ 9 GLAND NUT
IRl N IRER 10 STOP PIN AISt 304
) | REN 11 HANDLE STAINLESS STEEL
S 12 HANDLE SLEEVE PVC
3 | == 13 STEM NUT
T ddd b : 14| SPRING WASHER AISI 304
. 15 BOLT

I\/|1| Torque (N-M) |Weight

| Breakaway | Action | (kg)

15 15 [ 350|605 | 89 |108.0| 857 | 57.2 | 23.7 | 169 [ 96 | 16 8 42 - 16 | M5 3.8 3.0 1.7
20 | 20 [ 43.0] 700 [ 99 |117.0] 88.5 | 60.0 [ 235 | 169 | 96 | 1.6 8 42 - 16 | M5 5.3 4.0 2.1
25 | 25 |510({790] 108 |127.0{1033 | 738 [29.0| 205 | 97 [ 16 | 10 | 50 - 16 | M6 6.5 45 29
32 | 32 | 635|889 | 117 [140.0( 108.0 | 785 [ 29.0 | 205 | 111 | 16 | 10 | 50 - 16 | M6 9.0 75 40
40 | 38 | 732|986 | 127 [165.0( 128.4 | 1029 (394 | 266 | 127 16 | 12 | 70 - 16 | M8 25.0 20.0 5.7
50 50 | 92.0 1120.7 | 152 | 178.0) 135.9 | 110.4 | 39.4 | 266 [ 144 | 16 | 12 [ 70 - [191] M8 38.0 30.0 8.4
65 | 65 |104.6[139.0] 178 [190.0 [ 147.6 | 122.1 [ 38.6 | 298 | 160 [ 1.6 | 12 | 70 - [191] M8 45.0 35.0 | 133
80 | 80 |127.0]152.0| 190 |203.0 [ 167.5 | 142.0 [ 43.0 | 390 | 175 [ 1.6 | 15 | 102 [ 70 | 19.1 | M10 61.0 500 | 164
100 | 100 |157.21190.5 | 228 |228.5) 182.5 | 157.0 | 43.0 | 390 [ 224 | 16 | 15 [ 102 | 70 | 19.1 [ M10 80.0 73.0 | 277

unit: mm
| Torque (Ib-in) |Weight

|Breakaway| Action | (Ib)

1/2" 1059 1.38 [ 2.38 | 3.50 | 425 | 337 | 225 | 0.93 | 6.65 ] 0.38 | 0.06 | 0.31 | 1.65 | - | 0.63 | M5 33.6 26.6 3.8
3/4" 1079169 | 2.76 | 3.90 | 461 | 348 | 2.36 | 0.93 | 6.65 [ 0.38 | 0.06 | 0.31 [ 1.65 | - ] 0.63 [ M5 48.7 354 45
1" 10.98)201)311 425|500 407 | 291 |114)807|038|006[039[197| - |063]| M6 575 39.8 6.4
1-1/4"11.26 | 2.50 | 3.50 [ 461 [ 551 | 425 | 3.09 | 114 (807|044 |006|033]|197] - |063| M6 79.7 66.4 8.8
1-1/2"11.50 | 2.88 | 3.88 | 5.00 | 6.50 | 5.06 | 4.05 | 1.55 [10.47] 0.50 | 0.06 | 047 | 276 | - |0.63 | M8 221.3 1770 | 125
2" 11.97[362 ) 475 1598 [ 701 | 535 | 435 | 1.55 |10.47| 0.57 | 0.06 | 047 [ 276 | - ] 0.75 | M8 336.3 2655 [ 185

2-1/2" | 256 | 412 | 547 | 701 [ 748 | 581 | 481 [ 152 |11.73]| 0.63 | 0.06 | 0.47 | 2.76 - 0.75 | M8 398.3 309.8 | 29.3
3" [315[500| 598|748 [ 799 | 659 [ 559 [ 1.69 |15.35| 0.69 | 0.06 | 0.59 | 4.02 | 2.76 | 0.75 | M10 539.9 4425 | 36.1
4" 13941619 | 750 1898|900 | 719 [ 618 [ 1.69 |15.35| 0.88 | 0.06 | 0.59 | 4.02 | 2.76 | 0.75 | M10 708.1 646.1 | 61.0

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B201FM - B201FC - 150#
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (5" - 10”)

DESIGN FEATURES:

* Fullport, 5"~ 10" (DN125~DN250)  ® Anti-static device

e W.P.: CLASS 150 ® |ocking device

e W.T.:-20°C~200°C (-4°F~392°F) ~ * Mounting pad IS0 5211

* Investment casting * Flange dimension: ASME B16.5
* Blow-out proof stem * Face to face: ASME B16.10

¢ Silicone Free

ARTS | MATERIAL
B201FMMTXXX [ B201FCMTXXX
i BODY
ASTM A351-CFBM | ASTM A216-WCB
2 CAP
3 BALL ASTM A351-CF8M
4 SEAT TFM 1600
| 5 SEAL
5 6 | THRUST WASHER PTFE
’ 7 PACKING
NEERE STEM ASTM A276-316
> | g GLAND
) | 10 STOPPER
I R A 11| CIRCLIPS FOR SHAFT
8 i 12 STEEL TUBE AISI 304
13 | WRENCHBLOCK
— 14 BOLT
N 15 BOLT
L 16 | HANDLE SLEEVE PVC

| Torque (N-M) | Weight

Breakaway | Action | (kg)

125 (125 186 [216.0| 254 | 356 [239.6(199.0152.0| 743 |239| 1.6 | 8 |220| 27 | 85 | 125 | M12*1.75 160 96 46.0
150 [ 150 | 216 [241.5] 279 | 394 |256.5(220.0150.0| 743 |254| 1.6 | 8 |220| 27 | 85 | 125 | M12*1.75 190 168 64.5
200 | 200 | 270 |298.5| 343 | 457 |334.01300.5(85.5| 840 |286( 1.6 | 8 225 36 | 120 | 140 | M16*2.00 470 350 121.0
250 | 250 | 324 |362.0| 406 | 533 |378.01334.5(74.5( 1040 |30.2| 1.6 | 12 [25.4| 36 | 120 | 140 | M16*2.00 750 450 186.0

unit: mm

Torque (in-Ib) Weight

Breakaway (Ib)

5" 14921732 | 850 (10.00114.02| 9.43 | 7.83 | 2.05(29.25|10.94|0.06( 8 (0.87]1.06]3.35|4.92 | M12*1.75 | 1416.1 849.7 | 101.4

6" 1591 850 | 9.51 |10.98]15.51)10.10| 8.66 | 1.97 1 29.25|1.00|0.06 8 |0.87)1.06|3.35[4.92 | M12*1.75 | 1681.6 | 1486.9 | 142.2
8" |7.87[10.63|11.75]13.50]17.99]13.15| 11.83 3.37 | 33.07| 1.13]0.06 8 |0.89)1.42|4.72 551 | M16%2.00 | 4159.8 | 3097.7 | 266.8
10" 19.84112.76 | 14.25|15.98 | 20.98 | 14.88 [ 13.17 2.93 [ 40.94 | 1.19(0.06 [ 12 | 1.00]1.42)|4.72| 551 | M16*2.00 | 6638.0 | 3982.8 | 410.1

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B101FM - B101FC - 150# (67)
1-PC FLANGED END BALL VALVE

Stainless / Carbon Steel
DIRECT MOUNT

DESIGN FEATURES:

* Standard port, 6" (DN150) ® Anti-static device

e W.P.: CLASS 150 ¢ Mounting pad IS0 5211

e W.T.:-20°C~200°C (-4°F~392°F) e API'598 Design

* Investment casting * Wall thickness: ASME B16.34
* Blow-out proof stem * Flange dimension: ASME B16.5
* Live-loading design * Face to face: ASME B16.10

* Silicone Free e Supplied with lever handle

AT | MATERIAL
B101FMMTXXX | B101FCMTXXX
1 BODY
> o ASTM A351-CF8M | ASTM A216-WCB
3 BALL ASTM A240-316
4 STEM ASTM A276316
5 BALL SEAT TFM 1600
6 BODY SEAL
7 THRUST WASHER A
8 THRUST WASHER B PTFE
9 PACKING
= 10 BUSHING

11 GLAND

. 12 STOPPER

8 ; 13 HANDLE HEAD
14 BOLT
15 BOLT AISI 304
16 | CIRCLIPS FOR SHAFTS
17 STOPPER
- 18 STEEL TUBE

19 HANDLE SLEEVE

oN|d |a|e]c|o]e[u]|w|r]s|nN]|m|s|or] u |is0521 |TorqueN-m|weignt ko)
150 | 112 | 150 | 216 |2415] 279 | 267 | 246 | 745 | 254 | 16 | 8 | 22 | 27 [ 125 |12 asunc| o2 | 20s 41
unit: mm
Nes| o |ar || c| oo lHu|w]|T|[s]N|m]s]o]| v |is0521 |Toguelinib)| weight o)
6" | 441|591 (850|951 [1098 1051|969 |29.33] 1.00 | 006 | 800 | 0.87 | 1.08 | 492|172 -13UNC| Fio/F12 | 18144 90.4
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B501FM - B501FC - 150# (1" - 47
1-PC FLANGED END BALL VALVE

Stainless / Carbon Steel
DIRECT MOUNT e FIRE SAFE

DESIGN FEATURES:
e Standard port, 1"~4" (DN25~-DN100) ~ ® Anti-static device
e W.P.:CLASS 150 ¢ Direct mounting pad IS0 5211
e \W.T.:-20°C~200°C (-4°F~392°F) ¢ API 607 Fire safe approved
® Investment casting * Wall thickness: ASME B16.34
¢ Blow-out proof stem * Flange dimension: ASME B16.5
® Live-loading design * Face to face: ASME B16.10
® Silicone Free ® Supplied with lever handle
MATERIAL
‘ = | B501FMMGXXX | B501TFCMGXXX
. g 1 BODY
T ‘ } > RETAINER ASTM A351-CF8M ASTM A216-WCB
2\ 2 gr{q ﬁ . 3 BALL ASTM A351-CF8M
7 s 9 4 SEAT TFM 1600
_ . 5 SEAL GRAPHITE
A = 6 THRUST WASHER CTFE
B 7 STEM ASTM A276-316
N _— 8 0-RING VITON
P L 9 PACKING A GRAPHITE
I oD 10 PACKING B CTFE
- i 11 GLAND RING AISI 304
12 BELLEVILLE WASHER AISI 301
13 STEM NUT
14 LOCKING WASHER AISI 304
15 STOPPER
16 HANDLE STAINLESS STEEL
17 SOCKET SET SCREWS AISI 304
18 HANDLE SLEEVE PVC
| Torque (N-m) |Weight
IS05211 | Break- Action | (kg)
away
25 20 | 25 | 51 | 795(108.0)127.0| 96 | 80 |1400f{ 11116 | 9 36 | 42 | 16 3 |FO3/F04| 98 59 2.0
40 30 | 40 | 73 | 985 |127.0(165.0( 101 | 105 | 1975 143 | 16 | 11 42 | 50 | 16 3 |F03/F04| 208 1.7 4.0
50 38 | 50 | 92 |1205(152.0(178.0] 123 | 14.0 |2475( 158 | 16 | 14 | 50 | 70 | 19 3 |FO5/F07] 299 | 20.8 6.8
65 50 [ 64 | 105 |139.5(178.01190.5( 136 | 15.5 (2475|176 | 1.6 | 14 | 50 [ 70 | 19 3 |FO5/F07| 37.7 | 26.0 9.7
80 64 | 76 | 127 |1525(190.5|203.0( 155 | 185 |340.0|1 19.1 | 1.6 | 17 | 70 | 102 | 19 3 |F07/F10| 481 36.4 15.2
100 | 76 | 100 | 157 |190.5(229.01229.0( 170 | 20.0 |340.0| 24.0 | 1.6 | 17 | 70 | 102 | 19 3 |FO7/F10| 559 | 455 23.0
unit: mm
| Torque (in-Ib) |Wei
ght
OS2 Brea | pion | b
1" 10791098201 )313|425]500]379|031|557 (044 (0.06)|035|142|1.65]063(0.12|F03/F04| 86.7 522 4.4
1-1/2" 1118 1 157 [ 2.87 | 3.88 | 5.00 | 6.50 | 3.97 | 0.41 | 7.78 | 0.56 [ 0.06 [ 0.43 | 1.65]1.97 | 0.63 [ 0.12 [ FO3 /FO4 [ 184.1 | 103.6 8.8
2" [150(197 362|474 (598|701 |484|055]9.74|062|0.06(055(197(276]0.75]0.12|F05/F07 | 264.6 | 184.1 15.0
2-1/2" (197 | 252 14131549 [ 7.01 | 750 | 5.35 | 0.61 | 9.74 | 0.69 | 0.06 | 0.55 [ 1.97 [ 276 | 0.75 | 0.12 | FO5 / FO7 | 333.7 | 230.1 | 21.4
3" [252(299|500]6.00(750]799 (6110731339075 |0.06|0.67(2.76(4.02]0.75]0.12 | FO7/F10 | 425.7 | 322.2 | 335
4" 1299(3946.18( 750 [ 9.02 [ 9.02 | 6.70 | 0.79 | 13.39| 0.94 | 0.06 | 0.67 | 2.76 | 4.02 [ 0.75 | 0.12 [ FO7 /F10 | 494.8 | 402.7 | 50.7
FOR ADDITIONAL SIZES SEE NEXT PAGE unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




POWELL VALVES SINCE 1846

SERIES: B603FM - B603FC - Class 300
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (1/2” - 47)

DESIGN FEATURES:

* Full port, 1/2"~4" (DN15-DN100) ® Supplied with lever handle

e W.P.: CLASS 300 ® Live-loading design

* W.T.:-20°C~200°C (-4°F~392°F) ~ * Anti-static device

* Investment casting * locking device

* Blow-out proof stem * Direct mounting pad IS0 5211
¢ Silicone Free * API 607 Fire safe approved

MATERIAL

|
ITEM ‘ PARTS B603FMIMGXXX | B603FCMGXXX

; BéJADPY ASTM A351-CF8M | ASTM A216-WCB
3 BALL ASTM A351-CF8M
4 STEM ASTM A276-316
W 5 SEAT TFM 1600
J 6 SEAL GRAPHITE
s NI 7 | THRUST WASHER CTFE
oL@ it 8 0-RING VITON
% D = @ % 9 PACKING A GRAPHITE
- c AN 10 PACKING B CTFE
B 11 GLAND RING AISI 304
Jﬁ d. 12 | BELLEVILLE WASHER AISI 301
Shmnbie Sl e R 13 STEM NUT
‘ 14 LOCK WASHER
S— =R\ 15 STOPPER
N e 16 HANDLE
‘ S = S AISI 304
fa? | @ e © 6 <£ 18 NUT
— ] 19 BOLT
20 HANDLE NUT
f ‘ S ‘D1‘D2‘Ra Rb‘N‘ M ‘|305211|TOFL(N'M).lwe'ght
| Breakaway | Action|  (kg)
15 | 15 [ 350|667 | 95 | 140 | 845 [1975|147] 2 | 9 | 36 | 42 [275]275] 4 | 160 [Fo3/F04| 52 30 | 24
20 | 20 | 430826 115 | 152 [ 945 [1975[163] 2 | 9 [ 36 | 42 [275[275] 4 [ 191 [Fo3/F0a| 80 47 | 34
25 | 24 [ 510890 125 | 165 [ 995 [1975[179] 2 [ 11 | 42 | 50 [275] 35| 4 [ 191 [roa/ro5| 125 90 | 46
32 | 30 [635| 984|135 | 178 [1050[1975[195] 2 [ 11 [ 42 [ 50 [275( 35| 4 [ 191 [roa/Fos| 140 | 110 | 59
40 | 38 [ 730 [1143] 155 | 190 [ 1245 [2475] 211 2 [ 14 [ 50 [ 70 [350] 45| 4 [ 223 ros/F07] 245 | 180 | 88
50 | 50 | 920 [127.0] 165 | 216 [129.0 [2475[227] 2 [ 14 [ 50 | 70 {350 45 8 [ 191 [Fos/F07] 320 | 230 110
65 | 64 [1048(1492] 190 | 241 | 1545|3400 259 2 [ 17 | 70 [ 102 [as0| 55| 8 [ 223 ro7/Fi0] 380 | 270 | 185
80 | 75 [127.0[1683] 210 | 282 | 1655 3400|290 2 [ 17 | 70 [ 102 [450] 55 | 8 [ 223 [Fo7/Fi0] 450 | 300 | 253
100 | 98 [1572]2000] 255 | 305 [188.0(3400(322] 2 | 22 [102] 125550 65| 8 | 223 [Fio/F12]| s50 | 370 | 395

unit: mm

‘ W ‘ T ‘ i ‘ S ‘ D1 ‘ D2 ‘ Ra | Rb ‘ \ ‘ M ‘lSOSZH Torque(in-Ib) Weight

| Breakaway | Action| (Ib)
0.63 | FO3/ FO4 46.0 26.6 5.3
0.75 | FO3 / F04 70.8 41.6 7.5
0.75 | FO4 / F05 110.6 79.7 | 10.1
0.75 | FO4 / FO5 123.9 974 1 130
0.88 | FO5/ FO7 216.8 159.3 | 194
0.75 | FO5 / FO7 283.2 2036 | 243
0.88 | FO7 /F10 336.3 239.0 | 408

1/2° {059 1.38 [ 263 | 3.74 | 551 [ 3.33 [ 7.78 | 0.58 [0.08 | 0.35] 1.42 [ 1.65]0.11 | 0.11
3/4" 1079 169 | 3.25 [ 453 | 598 | 3.72 | 7.78 [ 0.64 | 0.08 | 0.35[ 1.42]1.65) 0.11 [ 0.11
1" 10.94]201)350]492|650]| 392|778 |070[0.08/0.43)1.65]197]0.11]0.14
1-1/4"11.18 | 2.50 | 3.87 | 5.31 [ 7.01 | 413 | 7.78 | 0.77 | 0.08 [ 0.43 | 1.65| 1.97 {0.11 ] 0.14
1-1/2"11.50 | 2.87 | 450 | 6.10 [ 7.48 | 490 | 9.74 |1 0.83 | 0.08 [0.55]1.97 | 2.76 {0.14] 0.18
2" 11.97] 362 | 5.00 [ 6.50) 850 | 508 |9.74 [0.89]0.08|0.55[1.97]2.76)0.14{0.18
2-1/2" 1252 | 413 | 587 | 748 | 949 | 6.08 |13.39|1.02|0.080.67 | 2.76 | 4.02 | 0.18 | 0.22

3" 1295(500) 663|827 (11.1] 652 |13.39]1.14)0.08 [0.67|2.76|4.02 |{0.18 ] 0.22 0.88 | FO7/F10| 3983 | 2655 | 55.8

4" 1386 6.19) 7.87 |10.04{12.01] 7.40 |13.39]1.27)0.08 0.87 | 4.02 | 4.92 [ 0.22 | 0.26 088 | F10/F12| 486.8 |3275]| 87.1
FOR ADDITIONAL SIZES SEE NEXT PAGE unit: in

[eol ool ool ool I = I o e N B

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B603FC - B603FM - Class 300
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (67

DESIGN FEATURES:

Full port, 6" (DN150)

W.P. : CLASS 300

W.T. : -20°C~200°C (-4°F~392°F)
Investment casting

Blow-out proof stem

Silicone Free

Supplied with lever handle
Live-loading design

Anti-static device

Locking device

Direct mounting pad IS0 5211
API 607 Fire safe approved

s MATERIAL
BGOSFMMGXXX | BBO3FCMGXXX
1 BODY
. 5 ASTM A351-CF8M | ASTM A216-WCB
3 BALL ASTM A240-316
4 SEAT TFM 1600
5 SEAL 316+GRAPHITE
6 STEM ASTM A276-316
= ‘ SESN 7 | THRUST WASHER CTFE
 — ‘ i — © 8 0-RING VITON
é é) L= 9 PACKING A GRAPHITE
W:O & 10 PACKING B CTFE
T ,7 6 g " GLAND RING AIS| 304
T 12 | BELLEVILLE WASHER AISI 301
13 STEM NUT
O 14 | LOCK WASHER
—S3a8s - - - - 15 |  FLAT WASHER
& 16 | HANDLE HEAD
17 STOP PIN AISI 304
; ] 18 BOLT
— 7RIk STUD
- gy g 5 20 NUT
L 21 STEEL TUBE
22 | HANDLE SLEFVE PVC

Torque (N-M i
N | M |I1s05211 | Toae M| weigh

| Breakaway| Action | (kg)

150 | 150 [ 216 |1 269.9( 320 | 403 |275|253 | 743 | 37 | 2 | 27 (102|125 55|65 | 12 |223|F10/F12 250 170 79
unit: mm

Torque (in-Ib) i
M | 1805211 | Toauefnb) | st

| Breakaway| Action | (Ib)

6" |591) 85 (1063(12.6]15.87(1.08(9.96(29.25]|1.46(0.08(1.06(4.02|14.9210.22|0.26( 12 [0.88| F10/F12 | 2212.7 1504.6 | 1742
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B601FM

- B601FC - Class 150

2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (1/2” - 47)

DESIGN FEATURES:
Full port, 1/2"~4" (DN15~DN1
W.P. : CLASS 150

Investment casting
Blow-out proof stem

W.T. : -20°C~200°C (-4°F~392°F)

00) Live-loading design

Anti-static device

Locking device

Direct mounting pad IS0 5211

API 607 Fire safe approved

Silicone Free Supplied with lever handle
| MATERIAL
LS B601FMMGXXX | B601FCMGXXX
1 BODY
. 1 2 CAP ASTM A351-CF8M | ASTM A216-WCB
\g 3 BALL
4 STEM ASTM A276-316
5 SEAT TFM 1600
= 6 SEAL GRAPHITE
7 THRUST WASHER CTFE
8 0-RING VITON
9 PACKING A GRAPHITE
S g 10 PACKING B CTFE
i 1" GLAND RING AISI 304
12 | BELLEVILLE WASHER AISI 301
13 NUT
D 14 LOCK WASHER
15 STOPPER
16 HANDLE
17 STUD AISI 304
18 NUT
19 NUT
20 BOLT
Torgue (N-M) Weight
b2 ‘ jil ‘ i ‘ . ‘ISO 5211|Breakaway|Ac‘[ion| (kg)
15 [ 15 [35.0 [605]89.0[{1080f 850 (85505190 (111]16] 9 [ 36|42 |275|275( 16 |F0O3/F04 5.2 3.0 1.7
20 [ 20)43.0]70.0]98.0)117.0] 895 |85 |55.0|190|116]16] 9 | 36 |42 |275|275] 16 |FO3/F04 8.0 4.7 2.1
25 [ 24151.0[795]108.0)127.5] 942 |10.5]59.0| 190 |116] 1.6 | 11 | 42 | 50 | 2.75|3.50] 16 |F04/F05 12.5 9.0 3.2
32 [30)64.0(89.0]117.0)140.5] 97.9 |10.5|62.0| 190 |12.7] 1.6 | 11 | 42 | 50 | 2.75|3.50| 16 |F04/F05 14.0 11.0 3.7
40 [ 38 ) 73.0[985]127.0)165.0{120.9|14.0]176.0| 235|143 1.6 | 14 | 50 | 70 | 350|4.50| 16 |F05/F07 24.5 18.0 6.0
50 [50)92.0 [120.5]152.0)178.0{129.9|14.0| 84.5]235|16.0] 1.6 | 14 | 50 | 70 | 3.50 |4.50| 19 |F05/F07 32.0 23.0 8.0
65 [ 64 1105.0{139.5]178.0)190.5|156.3|17.0]104.5| 325 |17.5] 1.6 | 17 | 70 [ 102450 |5.50] 19 |F07/F10 38.0 21.0 14.5
80 [ 76 1127.0{152.5]190.5]203.0{163.3]17.0|111.5) 3251911 1.6 [ 17 [ 70 | 102 ] 4.50)5.50] 19 |F07/F10 45.0 30.0 18.2
100 [100)157.2{190.51229.01229.0|195.9|23.0|142.01 325 |24.3] 1.6 | 22 | 102 [ 125]550|6.50] 19 |F10/F12] 130.0 78.0 29.3
unit: mm
‘d‘ G ‘ c ‘ D ‘ L ‘ H ‘H1‘H2‘W‘T‘ f‘S ‘m‘m‘m‘R2‘M‘|$05211|ﬂmlwe'gm
| Breakaway| Action | (Ib)
1/2" {059 1.38 | 2.38 | 3.50 [ 425 [ 3.35 [0.33]1.99|7.48{0.44]10.06]0.35[1.42(1.65{0.11[0.11{0.63 |FO3 / F04 46.0 26.6 3.7
3/4" [0.79] 1.69 | 2.76 | 3.86 | 4.61 | 3.562 |0.33| 2.17 | 7.48|0.46]0.060.35]1.42{1.65] 0.11/0.11) 0.63 |FO3 / FO4 70.8 41.6 4.6
1" 10.94] 2.01 [313]425] 502|371 041|232|7.48/0.46]10.06]0.43]11.65[(1.97]0.11/0.14]0.63|F04/F05| 110.6 79.7 7.1
1-1/4"{1.18] 2.52 | 350 | 461 | 553 | 3.85 [0.41|2.44|7.48|0.50)0.06]0.43]1.65[1.97]0.11|0.14]0.63 |F04 /F05| 123.9 97.4 8.2
1-1/2"{1.50] 2.87 | 3.88 ] 5.00 | 6.50 | 4.76 |0.55|2.99 |9.25/0.56]0.06|0.55]1.97[2.76]1 0.14 | 0.18] 0.63 |F05/ F07| 216.8 159.3 | 132
2" 11.97]362 [4741598] 7.01 [ 511 10.55]3.3319.25|0.63[0.06[0.55[1.97]12.76]0.14]0.18|0.75 |F05 /FO7] 283.2 2036 | 176
2-1/2"12.52]1 413 | 549(7.01] 750 | 6.15 10.67]4.111128]0.69[0.06|0.67[2.7614.02]10.180.22]0.75 |F07 /F10] 336.3 239.0 | 320
3" 1299]5.00 [6.00|7.50]7.99 | 6.43 10.67]4.39]128]0.75[0.06[0.67[2.76]14.02]10.1810.22|0.75 |[FO7 /F10] 398.3 2655 [ 402
4" 13941619 | 75019.02]9.02 771 10.91]559]12.8]0.96]0.06{0.87[4.0214.92]10.2210.26]0.75|F10/F12] 1150.6 6904 [ 646
FOR ADDITIONAL SIZES SEE NEXT PAGE unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B601FM - B601FC - Class 150
2-PC FLANGED END BALL VALVE
Stainless / Carbon Steel (6” - 107)

DESIGN FEATURES:

® Full port, 6"~10" (DN150 ~ DN250)  ® Supplied with lever handle

e W.P.: CLASS 150 ® Llive-loading design

e W.T.:-20°C~200°C (-4°F~392°F) ¢ Anti-static device

® Investment casting ¢ Locking device

* Blow-out proof stem ¢ Direct mounting pad IS0 5211
® Silicone Free ¢ API 607 Fire safe approved

| MATERIAL

B601FMMGXXX | B601FCMGXXX

PCD ¢D2 1 B0 ASTM A351-CF8M | ASTM A216-WCB
PCD ¢D1 f 2 CAP
L ﬂ 3 BALL ASTM A351-CF8M
4 SEAT TFM 1600
5 SEAL 316+GRAPHITE
6 STEM ASTM A276-316
9 7 | THRUST WASHER CTFE
******* - —® 8 0-RING VITON
5 ‘ : 9 PACKING A GRAPHITE
: : 10 PACKING B CTFE
o — : 1 GLAND RING AISI 304
‘ 12 | BELLEVILLE WASHER AISI 301
f 13 STEM NUT
oS | ] 14 | LOCK WASHER
°13 15 | FLATWASHER
16 HANDLE HEAD
ez 17 STOP PIN AISI 304
ﬁ 18 BOLT
19 STUD
® 20 NUT
21 STEEL TUBE
22 | HANDLE SLEEVE PVC
s|{oi|o2| R |R|N|M |305211|TmL“\HV”,,Wejght
|Breakaway|Act|on| )
150 | 150 | 216 |241.5] 279 | 394 | 230 |275| 201 | 743 | 25.4] 16 | 27 | 102|125 | 55 | 65 | 8 |224]F10/F12] 250 | 170 | 67
200 | 200 | 270 |2985| 343 | 457 [ 312 | 36 | 259 | 840 | 286 1.6 | 36 | 140 85| - | 8 |224] Fa | 470 | 280 | 116
250 | 250 | 324 [362.0 406 | 533 | 350 | 36 | 295 |1040{302| 1.6 | 36 | 140 85 12 |54 Fa | 750 | 532 | 186
unit: mm
p2| R|RI|N|WM |305211| Torque(n15)_ et
Breakaway | Action (Ib)
6" 591|850 | 951 [10.98[1551] 9.06 | 1.08] 7.91 |29.25| 1.00 [0.06 | 1.06 [4.02 492|022 026 | 8 [0.88|F10/F12| 22127 |15046| 1477
8" [7.87]1063[11.75| 135 [17.99(12.28] 1.42 [1020(33.07] 1.13 | 0.08 | 1.42 | 5.51 033| - | 8 [088| F1a | 41598 |24782] 2557
10" | 9.84]12.76(14.25]15.98|20.98|13.78] 1.42 | 11.61{40.94| 1.19 [ 0.06 | 1.42 | 5.51 033 12 [100] P4 | e6380 [47086] 4101
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




